
n Integrated Rack Systems

Knürr® DCM® Heavy-Duty Rack – �Earthquake Kit 
Assembly Instructions

Installer Guide

 



2Vertiv  |  Knürr® DCM® Heavy-Duty Rack – Earthquake Kit Assembly Instructions  |  01.147.909.8  |  Index A  |  ECR no. 18375  I  02/18

Contents

1.0	 Scope of Delivery................................................................................................................................................................... 3

2.0	 Remove DoORS....................................................................................................................................................................... 5

3.0	 Remove Side Panels...............................................................................................................................................................6

4.0	 Remove Hinges and Latch Plates...................................................................................................................................... 7

5.0	 Adding Rear Extrusion Support......................................................................................................................................... 8

6.0	 Installing Bottom Stiffening Panel....................................................................................................................................9

7.0	 Installation of upper stiffening panel............................................................................................................................. 10

8.0	 Installation of Frame Stand Off Pieces (Figure 7)...................................................................................................... 11

9.0	 Install Earthquake Frames (Figure 8)..............................................................................................................................12

10.0	Drilling instruction.................................................................................................................................................................13

11.0	 Install Hinges and Latch Plates....................................................................................................................................... 14

12.0	 Install Doors........................................................................................................................................................................... 16

13.0	 Install Side Panels.................................................................................................................................................................17



3Vertiv  |  Knürr® DCM® Heavy-Duty Rack – Earthquake Kit Assembly Instructions  |  01.147.909.8  |  Index A  |  ECR no. 18375  I  02/18

1.0	 SCOPE OF DELIVERY
Item Component Quantity
01.

1:20

2x

02.

3:20

1x

03.

3:20

1x

04

1:5

2x

05.

1:2

8x

06.

1:2

4x

07.

1:2

2x

08.

9:10

1:2

2x



4Vertiv  |  Knürr® DCM® Heavy-Duty Rack – Earthquake Kit Assembly Instructions  |  01.147.909.8  |  Index A  |  ECR no. 18375  I  02/18

Scope of Delivery – Tools

Item Component Quantity Tool
09. 20x SW5

10. 10

M5

4x T20

11. 16x T25

12.

 

4x PH3

13. 4x T20

14. 4x SW5

15. 12x SW6
SW13

16. 10x T30



5Vertiv  |  Knürr® DCM® Heavy-Duty Rack – Earthquake Kit Assembly Instructions  |  01.147.909.8  |  Index A  |  ECR no. 18375  I  02/18

2.0	REMOVE DOORS
 

3 

4 

3 

4 

3 

2 

4 

1 

1 

1 

A 

A 

A 

 

A 

 

 

B 

 

B 

 

B 

 

 

B 

 

 

 

Figure 1:	 Remove doors

1.	 Open doors (opening angle minimum 90°)
2.	 Disconnect grounding cable (AMP-plug connector) 
3.	 Lift door and remove it



6Vertiv  |  Knürr® DCM® Heavy-Duty Rack – Earthquake Kit Assembly Instructions  |  01.147.909.8  |  Index A  |  ECR no. 18375  I  02/18

3.0	REMOVE SIDE PANELS
 

2 

3 

1 

10x 

4 

5 

90° 

90° 

Figure 2:	Remove side panels, follow steps 1 to 5

1.	 Turn quick release fastener counter clockwise (90° turn)
2.	 Release side panel lock
3.	 Disconnect grounding cable (AMP-plug connector)
4.	 Lift side panel and remove it



7Vertiv  |  Knürr® DCM® Heavy-Duty Rack – Earthquake Kit Assembly Instructions  |  01.147.909.8  |  Index A  |  ECR no. 18375  I  02/18

4.0	REMOVE HINGES AND LATCH PLATES
 

R 

R 

R 

R 

R 

R 

A 

B 

A 

A 

A 

B 

B 

A 

B 

A 

A 

A 

B 

B 

B 

A 

B 

Figure 3:	Remove hinges and latch plates

Reuse = 
 R 

1.	 Remove all hinges and latch plates from front and rear side of the rack



8Vertiv  |  Knürr® DCM® Heavy-Duty Rack – Earthquake Kit Assembly Instructions  |  01.147.909.8  |  Index A  |  ECR no. 18375  I  02/18

5.0	ADDING REAR EXTRUSION SUPPORT

 

2x M6x16 

2x M6 

Item 4 

Figure 4:	Positioning and fixing rear extrusion support (Item 4)

1.	 Insert spring nut (Item 16) into the T-slot of aluminum depth extrusion
2.	 Position extrusion support (Item 4) under the 19” extrusion
3.	 Tighten extrusion support with screws M6x16 (Item 16) into spring nut in depth extrusion



9Vertiv  |  Knürr® DCM® Heavy-Duty Rack – Earthquake Kit Assembly Instructions  |  01.147.909.8  |  Index A  |  ECR no. 18375  I  02/18

6.0	INSTALLING BOTTOM STIFFENING PANEL
 

2 
Item 3 

Figure 5:	Position and install stiffening panel bottom side (Item 3)

1.	 Position bottom stiffening panel (Item 3) like at figure 5, steps 1a to 1b
2.	 Screw stiffening panel into steel bottom depth mounting rail with 4 pieces self tapping screws M6x12 (Item 18), step 2
3.	 Screw panel into 19” extrusion and extrusion support with 8 pieces screws and nuts M8x20 plus washers (Item 17) like figure 5, 

step 3



10Vertiv  |  Knürr® DCM® Heavy-Duty Rack – Earthquake Kit Assembly Instructions  |  01.147.909.8  |  Index A  |  ECR no. 18375  I  02/18

7.0	INSTALLATION OF UPPER STIFFENING PANEL

Figure 6:	Install stiffener panel top side (item 2)

1.	 Position upper stiffening panel (Item 2) like at figure 6, steps 1a and 1b
2.	 Insert spring nut (Item 18) into T-slot of aluminum depth extrusion, Figure 6, step 2 (not shown)
3.	 Screw panel into steel depth rail at top with 4 pieces self tapping screws M6x12 (Item 10) like Figure 6, step 3. Secure panel to 

spring nut in aluminum depth extrusion (see 6) with 2 pieces screws M6x12 (Item 18)
4.	 Screw panel into 19” extrusion via 4 pieces screws and nuts M8x20 (Item 17) plus washers like Figure 6, step 4



11Vertiv  |  Knürr® DCM® Heavy-Duty Rack – Earthquake Kit Assembly Instructions  |  01.147.909.8  |  Index A  |  ECR no. 18375  I  02/18

8.0	INSTALLATION OF FRAME STAND OFF PIECES (FIGURE 7)
 

4x 

2x 

2x 

4x 2x M6x22 

1x M6x12 

2x M6x22 

1x M6x12 

Figure 7:	 Install stand-off pieces

1.	 Install 4x top and 4x bottom stand off pieces (Item 5) with 16x self tapping screws M6x22 (Item 12) into the pre-cut holes
2.	 Install 4x middle stand off pieces (Item 6) by inserting 4x spring nuts into the t-slot and by fixing 4x screws M6x12 (Item 13)



12Vertiv  |  Knürr® DCM® Heavy-Duty Rack – Earthquake Kit Assembly Instructions  |  01.147.909.8  |  Index A  |  ECR no. 18375  I  02/18

9.0	INSTALL EARTHQUAKE FRAMES (FIGURE 8)

Figure 8:	Install earthquake frames

1.	 Rest earthquake frame (Item 1) on ground and mount it to stand off pieces, front and rear side
2.	 Install frame with 10x screws M6x12 (Item 10) to stand off pieces front and rear side (Attention: for easier positioning, only finger 

tighten screws initially)



13Vertiv  |  Knürr® DCM® Heavy-Duty Rack – Earthquake Kit Assembly Instructions  |  01.147.909.8  |  Index A  |  ECR no. 18375  I  02/18

10.0	 DRILLING INSTRUCTION

 After fixing the earthquake frames move the rack into correct position on site.

Drill holes into the concrete according to the instruction for the seismic anchor bolts. Rack can be used as drilling 
template.

Fix the rack to the ground before mounting next panels.

Use HILTI Kwik Bolt TZ Expansion Anchor “KB-TZ 1/2 x 5-1/2” HILTI item no. 304586.

Note: After installation, the middle brackets will be “captured” if the recommended anchor (Hilti KB-TZ) is 
used and will require the rack to be lifted off the anchor stud if it needs to be relocated.

Alternate anchors are available which provide a removable bolt (Hilti HSL-3 M12/50 is one example). However, that 
anchor can only be used in concrete which is at least 6 1/4” inches thick.



14Vertiv  |  Knürr® DCM® Heavy-Duty Rack – Earthquake Kit Assembly Instructions  |  01.147.909.8  |  Index A  |  ECR no. 18375  I  02/18

11.0	 INSTALL HINGES AND LATCH PLATES

Figure 9:	Install hinges and latch plates (rear side) 



15Vertiv  |  Knürr® DCM® Heavy-Duty Rack – Earthquake Kit Assembly Instructions  |  01.147.909.8  |  Index A  |  ECR no. 18375  I  02/18

Figure 10:	Install hinges and latch plates (front side) 

1.	 Install hinges and latch plates like at figure 9 and 10
Attention: Hinges and latch plates for front and rear doors are different. For correct assembly take care of the 
correct part selection.



16Vertiv  |  Knürr® DCM® Heavy-Duty Rack – Earthquake Kit Assembly Instructions  |  01.147.909.8  |  Index A  |  ECR no. 18375  I  02/18

12.0	 INSTALL DOORS
 

1 

2 

1 

2 

2 

3 

1 

A 

 

A 

 

A 

 

 

A 

 

 

 

B 

 

B 

 

 

B 

 

 

 

B 

 

 

 

 

Figure 11:	Install doors, steps 1 to 3

1.	 Position door in front of the frames (opening angle 90°)
2.	 Hang in hinges
3.	 Re-attach grounding cable (AMP-plug connector)



17Vertiv  |  Knürr® DCM® Heavy-Duty Rack – Earthquake Kit Assembly Instructions  |  01.147.909.8  |  Index A  |  ECR no. 18375  I  02/18

13.0	 INSTALL SIDE PANELS

Figure 12:	Install side panels

1.	 Place side panel bend into the T-slot of the rack frame
2.	 Re-attach grounding cable (AMP-plug connector)
3.	 Ensure side panels are in correct position and level 
4.	 Turn quick-release fasteners clockwise to close (90° turn)
5.	 Relock side panel lock



VertivCo.com |	 Vertiv Integrated Systems GmbH, Mariakirchener Straße 38, 94424 Arnstorf, Germany
© 2016 Vertiv Co. All rights reserved. Vertiv, the Vertiv logo and Vertiv Liebert DSE are trademarks or registered trademarks of Vertiv Co. All other names and logos referred to are trade names, trademarks or registered trademarks of their respective owners. 
While every precaution has been taken to ensure accuracy and completeness herein, Vertiv Co. assumes no responsibility, and disclaims all liability, for damages resulting from use of this information or for any errors or omissions. Specifications are subject to 
change without notice.


	1.0	Scope of Delivery
	2.0	Remove DoORS
	3.0	Remove Side Panels
	4.0	Remove Hinges and Latch Plates
	5.0	Adding Rear Extrusion Support
	6.0	Installing Bottom Stiffening Panel
	7.0	Installation of upper stiffening panel
	8.0	Installation of Frame Stand Off Pieces (Figure 7)
	9.0	Install Earthquake Frames (Figure 8)
	10.0	Drilling instruction
	11.0	Install Hinges and Latch Plates
	12.0	Install Doors
	13.0	Install Side Panels

